https://universitynews.in

A, C.$ (Ma.n) Exam : 2011
;.._:j" - C-DTN.LCPB
BOTANY
Paper i
[Fime Allowed - Three Hours] Ma;ﬂmum'wa ks : 300
INS_TRUCTIONS

Each question is printed both. in' Hind; and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated cléarly on the
cover of the answer-book in the space.
provided for the purpose. No. marks will be
given for the ansiuers written in a medium
other than that spec._rfﬁed in the Admission
Certificate.

Candidates should atiempt. Questions. no, 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

The number of -marks carried by each
question is .fndicated at the end of the
question. )
Answers should be precise and to the péint.

Provide diagrams i, the answer-book,
wherever necessary.
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SECTION A
1. (a) What strategies are employed by plants for the
. uptake of iron under conditions of iron stress ?

(b) Describe about the factors that affect the
recombination frequencies.

(¢) Explain antisense RNA technology with an
example, Highlight its applications.

(d) Explain the ecological significance of forests. .

15x4=60
2. (a) Discuss the mechanism of T-DNA transfer from
Agrobacterium tumefaciens to host plant.

(b) Explain the concept of limiting factor in ecology.

(c) How can you identify the multigene families ?
Discuss the significance of identical or
non-identical genes of multigene familjes.

(d) Present the current model for long distance
transport of floral stimulus. 15%4=60

3. (a) Comment on ‘EPSPS’ and ‘Tra’ genes.

(b) Explain the Theory of Age and Area.

(¢) Discuss the mechanism of the regulation of gene
activity in lactose operon with- reference to __
B-galactosidase activity. "

(d) What' e\«;idences support starch-statolith ;
hypothesis-fon'gravitropism ? 15x4=60 |
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Qug &

L (%) U SN A A % wwy oilE I & fm
F W A SroE S ¥ 2 '
(@) T Agfed & nnfad @ e FwRe @
U FHfTT |
@) e 3T F g RN SR 75w @)
TR | THH ST W AR S |
(®) T & uitfafaiy mea & gagmEy | 15%4=60

2. (3) UTEeEm JHHE g0 WO 9§
A-ELUAE, U H fmaEfy & faa=
FST |

(7) wfifefdst & dHeld sRs & 39uRon i
TFRT |

(9) oS3 Foll F Y FH fafgd = gaa § 2
g Fell & UHEY A AT S & HEwE

& fae=qr SINT |
() =0 SE9A W e g wReg i wefed afe
TEA il | 15x4=60

3. (3N THwERTE’ wd T A" | oh Hivw

(@) s IR T F fagia & guemwRw |
(W) AR T W 9 ofifr W guem S

®) TeRIfaST forn & deof & wogey |
(%) oA AT I HS-FqaTyH Uehed T & ue i
T YT E 7 15x4=60
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4. (a) Describe different methods of gene transfer in
plants.

(b} Distinguish between monoploid and haploid and
theirrole in evolution,

() Explain salient features of “The Environment
Protection Act” and mention how far it is effective’

in maintenance of the quality of environment.

(d), ‘What is the chemical nature of saponins ? How do
saponins provide defence against fungal attack on
plants ? 15x4=60

&
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4. (37) o F S sfeRer 5 fAfm fafnl o aofq

HINT |

() Wﬁ@ﬂﬁmﬁwﬁmmﬁmﬁ
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‘e e sfufEm F e fagel @
W@Wﬂ%waﬁﬁqﬁzi’rmﬂm
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g ? 15x4=60
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SECTION B

5 (a) Explain Interspecific and intergeneric

hybridization. Comment on Raphano-brassica.

(b) What is eutrophication ? What are its impacts on
the ecosystem ?

(c) Explain how the chromatin modification leads to
genome expression.

(d) Schematically present ethylene biosynthesis in
plants. Describe/illustrate the ‘triple response’ due
to ethylene. 15x4=60

6. (a) Explain the quantitative characteristics of a plant

community.

(b) Highlight the biosafety aspects arising out of plant
genetic engineering.
(c) What is RNA splicing ? Describe the known

‘mechanism of RNA splicing for group-1II introns.

(d) What is an osmosensor ? How does a
two-component, sensing/signalling system

contribute to osmosensing ? 15%x4=60

7. (a) What is ‘Satpura hypothesis’ ? How does it explain-

discontinuous distribution of certain species ?

(b) Explain the current developments in transgenic

technology contributing to crop improvement.
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{¢) How can you prove that DNA is a genetic

material ? Describe with a suitable example.

(d) What are the major functions of cytoskeleton in
living cells ? 15x4=60

8. (a) Give the basis of classification of Indian forests and
give its outline,

(b) * How will you identify the expression of a cloned

gene ?

(¢) Describe briefly, how RNA molecule trz;nsports
within the eukaryotic cell.

(d) Compare the pattern of CO, and ethylene

production in a climacteric fruit. 15x4=60
4
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(@) 9 I g W v ¢ & S g
v @ 2 ferdlt fed SeR ¥ 5 Ry |
(R) Sifa Fitemsl § Sozr-dwe & g1 o6
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SR §¥ BT BT WE I0E FR-[vIS &
TE-756 3} Jifda [fde @ o faar smr
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34 [ T F ford e sev ) B iE
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7o wEgr 1 3R 5 afard & | s geat &
¥ JAE GUE & P-8-5Y 0F §IT g
fomet diT gof & 3R A |

JeRIE 797 & forw fae si ge & siq ¥ fr
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IR G 03 Fvg+o &l |

STT ST &, FoR-Jei 8 Fo a5 |

Note ;

English version of the Instructions is printed. on
the front cover of this question paper.
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